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Zte sin cos tan

44’ 1 0.6947 | 0.7193 | 0.9657
45° | 0,7071  0,7071 | 1,0000
46° | 0.7193 | 0.6947 | 1.0355
47" 0,7314 | 0,6820 | 1,0724

@® 0.9657 @ 1.0000 ® 1.0355

@ 1.0724 ® 1.9657
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o SHATE]E ABCD ¢4 AC = A D
18cm, /DOC = 60° ¥ m, cABCD 2]
QM T-sholet.
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@D 100° @ 110° 3 120° @ 130° B 140°
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@ 37° ® 38° ® 45° @ 53° B 54°
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@ /x=100°, 2y = 80° @ /x=105° sy =80°
@ zx =100°, sy = 85° @ /x=105° ry = 85°

® zx = 110°, 1y = 80°
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® /x =106°, 1y = 88°
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@ sin0° = cos0° = tan 0°

@ sin45° = cos45° = tan 45°
® sin90° = cos90° = tan 90°
@ sin90° = cos 0° = tan 45°

B sin0° = cos 90° = tan 90°
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of tfste] /DAB = x, /ADB =y, /DEC =z
g o, ohg F &4 g2 A0
@® siny =sinz @ tany = tanz
® tanx =CE @ cosz =sinx

B cosz=1
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@ 53 cm @ 54 cm

@ 56 cm 3 57 cm
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